Nazwa: N

Typ: Nawiewny
Opis: Nawiew sala

N - Nawiewny

Sys. [Nr|f Szt. Typ Nazwa Wymiary Materiat| Pow. [m2]|Pow. calk. [m2]| Producent Uwagi
Anemostat wirowy
N[1] 8 BSCDI1* okraglyze 1) _ 950l D= 250 |BD= 330 stal Ogélne
skrzynka

roZprezna

N |2 8 TUBE* Przew6d okragly | d1 = 250] 11 = 2000 ocynk 1,57 12,56 Ogoblne

N3] 1 ATE Symetryezny | 41 _ psold3= 400|11= 570 ocynk | 0,88 0,88 Oglne
tréjnik 90 stopni

N |4 1 TUBE* Przewdd okragly [ d1 = 400]11 = 5000 ocynk 6,28 6,28 Ogolne

N|[s| 1 KXE Cawbmik 1 41— 4o0d3= 250 | 11= 380 ocynk | 1,22 1,22 Ogolne
symetryczny

N |6 1 TUBE* Przew6d okragly | d1 = 400] 11 = 6000 ocynk 7,54 7,54 Ogoblne

N[7] 1 USE Redukcja dl= 500[d2= 400|11= 177 ocynk | 0,53 0,53 Ogélne
symetryczna

N |8 1 MFA Ztaczka mufowa | d1 = 500 ocynk 0,28 0,28 Ogo6lne

N ol 1 KXE Cawbmik 1 41— so0{a3= 250 | 11= 380 ocynk | 147 147 Ogolne
symetryczny

N |10 1 TUBE* Przew6d okragly | d1 = 500] 11 = 6000 ocynk 9,42 9,42 Ogoblne

N [11] 1 2 Cawbmik 1 41— so0ldz= 250 | 11= 380 ocynk | 1,47 147 Ogélne
symetryczny

N [12 1 TUBE* Przewdd okragly [ d1 = 500]11 = 1500 ocynk 2,36 2,36 Ogolne

N [13] 1 BSE Kolano alfa= 90| r= 1 |dl= 500 ocynk | 1,85 1.85 Ogolne
segmentowe

N |14 1 TUBE* Przew6d okragly | d1 = 500] 11 = 1000 ocynk 1,57 1,57 Ogoblne
Asymetryczne

N |15 1 RA przejscie a= 500 b= 500| d= 500|g= 80|1l= 250l e= O [f= ocynk 0,50 0,50 Ogo6lne
koto/prostokat

N |16 5 BS Fuk symetryczny [alfa= 90| a= 500 b= 500]e= 50| f= 50| r= 100 ocynk 2,08 10,42 Ogoblne

N [17] 1 K Przewod a= 500/ b= 500| 1= 1488 ocynk | 2,98 2,98 Ogélne
prostokatny

N 18] 3 K Przewod a= 500[ b= 500| 1= 1500 ocynk | 3,00 9,00 Ogblne
prostokatny

N [19] 1 K Przewod a= 500[ b= 500| 1= 500 ocynk | 1,00 1,00 Ogblne
prostokatny

N [20] 1 K Przewod a= 500/ b= 500| 1= 1118 ocynk | 2,24 2,24 Ogélne
prostokatny
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N - Nawiewny

Szt. Typ Nazwa Wymiary Materiat| Pow. [m2]|Pow. calk. [m2]| Producent Uwagi
1 UA Redukcja a= 600/ b= 600| c= 500|d= 500{1= 400| e= -50|f= -50| ocynk | 0,97 0,97 Ogélne
asymetryczna
1 KSD Ttumik hatasu H= 600 B= 600| L= 1000|S= 40|D =.iczba wkia 1 ocynk Karpol
1 UA Redukcja a= 500[ b= 500| c= 600|d=600{1= 300| e= 50|f= 50| ocynk | 0,73 0,73 Oglne
asymetryczna
1 UA Redukcja a= 400/ b= 400| c= 500|d= 500 1= 250| e= 50|f= 50| ocynk | 0.51 0,51 Ogélne
asymetryczna
1 BS Luk symetryczny |alfa= 90 [ a= 400| b= 400)e= 50| f= 50| r= 100 ocynk 1,42 1,42 Ogolne
Prostokatna
1 WG*+RG czerpnia/wyrzutnial a= 600[ b= 800 stal Ogolne
$cienna
1 K Przewod a= 600[ b= 800| 1= 350 ocynk | 0,98 0,98 Oglne
prostokatny
1 UA Redukcja a= 500/ b= 400| c= 600|d= 800[1= 400| e= 0 [f= 50| ocynk | 1,13 113 Ogélne
asymetryczna
N 1 K Przewdd a= 500[ b= 400| 1= 419 ocynk | 0,75 0,75 Ogolne
prostokatny
N 2 K Przewdd a= 500[ b= 400| 1= 1500 ocynk | 2,70 5,40 Ogolne
prostokatny
N 1 BS Luk symetryczny |alfa= 90 [ a= 500| b= 400)e= 50| f= 50| r= 100 ocynk 1,59 1,59 Ogdlne
N 1 K Przewsd a= 500/ b= 400| 1= 1300 ocynk | 2,34 2,34 Ogélne
prostokatny
N 1 BS Fuk symetryczny [alfa= 45 a= 500 b= 400]e= 50| f= 50| r= 100 ocynk 0,89 0,89 Ogoblne
N 1 UA Redukcja a= 600[ b= 900| c= 500|d=400{1= 450| e= 0 |f= -50 ocynk | 2,02 2,02 Og6lne
asymetryczna
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